Stat 2470, 3/24 Discussion Questions Name
Instructions: Attempt to answer these questions by reading the textbook or with online resources
before coming to class on the date above. |

1. When comparing two samples, what is the natural estimator for 4y — u,? (the difference
between the two population means?)
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2. What is the formula for the standard deviation for the difference between the two means?
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3. What is the formula for the test statistic for the hypothesis test?
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4. In our testing procedures, wha‘mges Auk?epresent?
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5. Our calculator is set up to easily test two samples when A, = 0. How can we use the calculator
to do the test when 4y # 07
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6. When is the drawback of using observational studies to try to establish causation?
\

(e Can (,W7 See méaﬁﬂw&‘/% et (deradion s

Cavaadion M,Z'W41o L pess weads o fad ém,/uzﬂgf an les cun
7. How are randomized controlled experiments better than retrospectlve studies? fv
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8. How do we calculate 8 for the two-sample Z-test? In what ways does it differ from the one-
sample test?
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9. What are the conditions on using a Z-test with s, and s, {instead of o1 and ;) in terms of the
required sample sizes?
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10. What is the formula for confidence intervals for the difference between two means?
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11. What is the point estimate at the center of the interval?
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12. How can we use confidence intervals to conduct hypothesis tests?
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13. How can we do a two-sample confidence interval (using z) in our calculator?
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14. What is the formula for the required sample sizes for some width of the confidence interval,
assuming the two sample sizes are the same?
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15. How is the formula for the T-test statistic for the two sample means different than the two-

sample Z-test?
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16. Calculating the degrees of freedom for the two-sample T-test is quite complicated. What is the
formula? How is the value of n rounded?
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17. An even more conservative way to calculate the degrees of freedom (but one that is

considerably less complicated) is to use the smaller of the two sample sizes (minus one). What
are the downsides of this approach?
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18. How do we conduct this test in our calculator when Ay # 0? What are the steps?
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19. Why is the order of subtraction when setting up our procedures so important?
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20. What is the formula for the pooled T-test?
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21. What assumption does a pooled T-test make? s this assumption reasonable in most cases?
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